
1 2

3 4

5 6

Assembly Instructions

Ventilator Portable Bar Stool with Arms

�   631.656.1066      �   www.DreamSeat.com      �   CS@DreamSeat.com

LEFT RIGHT

m8*4"

m8*2"

m8*1-1/2"

m6*3/4"

m6

m8

Remove these screws
and remove bar
(When removing bar, do not disturb mesh)

Remove
hinge pin

Remove hinge
pin by gently tapping
with screw driver from inside to out

Add screws

*If bar is already
removed, skip step

(2)

(2)

(2)

Left Right

(7)

(7)

(1)

(7)

(8)

(8)

(7)

(12)

(12)

(13)

(13)

(8) (8)
(8)

(4)

(6)

(6) (2)

(11)

(5)

(5)
(14)

(14)

(3)

1. Back (1x) 7. Bolts (4x)

Reminder:
1. Do not fully tighten all 
bolts until assembly is 
complete. This will help all 
parts assemble properly.
2. Place the stool on a level 
surface before tightening 
all bolts.

Do not fully tighten all bolts until assembly is complete. This will help all parts assemble properly.

2. Seat (1x) 8. Bolts (8x)

3. Frame (1x Set) 10. Allen Wrench (1x)

9. Allen Wrench (1x)

4. Footrest (1x) 12. Armrest (1x Set)

11. Nuts (4x)

13. Bracket (2x)5. Bolts (2x)

14. Washer (2x)

15. Screws (4x)

1. Bolts (2x)

M4x1"

(15)


